Product| womso
=== Modification| ki w:s

Tektronix:

RACKMOUNT CONVERSION (OPT 10)
For TEKTRONIX® TM5006 Power Modules

Serial Numbers B010100 - Up

This modification kit provides parts and instructions for
mounting a TM5006 Power Module in a standard 19-inch wide
rack that has Universal. EIA, RETMA. or Western Electric
hole spacing.

Copyright © 1987 21-JUN-1990"

Tektronix. Inc. Supersedes: 040-0982-03
All Rights Reserved

TEXTRAONIX SCOPE-MOBILE ano 8 ore rogy of Tox e SONY : TEXTAONIX & 8 rogrs1erec waoemen of Sony “Teatrona inc




Scan by Zenith

KIT PARTS UST:

Ckt. Number Quantity Part Number Description

1 e Assy, left cab. side consisting of:
4 ea 210-0458-00 Nut, 8-32 X 0.344
2 a2 211-0755-00 Screw, Mach. 10-32 X 0.5, PNH
4 02 212-0070-00 Screw, 8-32 X 0.312 FLH, 100°
1/2 pr 351-0104-03 Track, Slide-out Section
1 e 367-0022-00 Handle, Bow, 4.579 L, Brs Crpl
1 m 390-1105-00 - Cabinet, Side Racksount

1 e Assy, right cab. side consisting of:
4 na 210-0458-00 Nut, B8-32 X 0.344
2 e 211-0755-00 Screw, Mach. §0-32 X 0.5, PNH
4 02 212-0070-00 Screw, 8-32 X 0.312 FLH, 1000
1/2 pr  351-0104-03 Track, Blide-out Section
1 ea 367-0022-00 Handle, Bow, 4.579 L, Brs Crpl
1 ea 390-3105-00 Cabinet, Side Rackamount

1 ea 119-0147-00 Fan, Axial, 115V, 50-60Hz, 14W

2 ea 210-31298-00 Washer, shird, 0.195 X 0.575

2 ea 212-0567-00 Screw, 10-32 X 0.887 ovh

4 ea 213-01B3-00 Screw, Thrd fra, 6-20 X 0.5

{ pr 351-0636-00 Track, Slide, Station. & intermed.

INSTRUCTIONS:

GENERAL INFORMATION

The TM5006 Power Module is designed for mounting
in & standard 19-inch wide rack that has Universal,
EIA, RETMA, or Western Electric hole spacing.

The TM5006 Power Module will fit most 18-inch wide
racks whose front and rear holes conform to
Universial hole spacing. The s8lide-out tracks easily
mount to the cabinet rack front and rear vertical
mounting rails if the inside distance between the front
and rear ralls is within 10-8/16 inches to 24-3/8
inches. If the Inside distance exceeds 24-3/8
inches, some means of support Is required for the
rear ends of the slide-out tracks (for example, make
extensions for the rear mounting brackets).

At least 7 Inches of vertical space iIs reqQuired fto
mount the Power Module in a rack.

The distance between the front ralls must be at least
17-5/8 inches for a cabinet in which the front lip of
the stationary section is mounted behind an untapped
front rail as shown iIn Fig. 1A. If the front rails

040-0982-04 page 2




: Scan by Zenith

4

10.

are tapped, the stationary section is mounted in front
of the front rail as shown in Fig. 18. The
dimension between the front rails should be &t least
17-3/74 inches. These dimensions allow room on
each side of the Power Module for the slide-out
tracks to operate so the Power Module can move
freely in and out of the rack.

For proper circulation of cooling air, aliow at least a
two-inch clearance betwcen the rear of the Power
Module and any enclosure on the rack. It it is
sometimes necessary or desirable to operate the
Power Module in the fully extended position, be
certain to use cables that are long enough to reach
the instrument.

Remove the 6-32 x 0.625 inch screws that fasten the four cabinet
cover retainers to the rear casting and remove the cabinet retainers.

Remove the cabinet feet, the trim sirips. and the flipstand.
Remove the left and right cabinet sides.

REPLACE FAN AS FOLLOWS:
Remove the two 6-32 x 2.0 inch pan head screws that fasten the top
of the fan motor to the heat sink.

Refer vto the Maintenance section of your Instruction Manua! and
perform steps necessary to remove the rear pane! and pull the panel
out to gain access to the fan wiring.

Unsolder the two gray wires from the fan motor, remove the two 6-32
x 0.625 inch screws and #6 nuts that fasten the bottom of the fan
motor to the rear panel and remove the fan motor.

install the fan motor. from the kit. by reversing the procedure
described in steps 4 through 6.

install the right-hand cabinet side assembly into the siots on the right
side of the instrument and fasten it in place with two 6-20 x 0.5 inch
thread forming screws.

install the left-hand cabinet side assembly into the slots on the left
side of the instrument and fasten it in place with two 6-20 x 0.5 inch
thread forming screws.

Reinstall the four cabinet cover retainers. removed in step 1. and
fasten them in place with the four screws removed in step 1.

040-0982-04 page 3



Scan by Zenith

Sretionsry © Setionery
soction of it saction of
shdeosyt -pped shdeovt
wock ok

o (t 1}

[ \
- frogees ‘
D il of . F
| | cubinet vack r—
Lok trom " eetes
il of
cabinet eexk -
[ )
WP EE o g ”s "l';l"
row arow

Sheote

18} Uniopped heni il ore _covaleriunk

Use BHS strows N ront ouil Deter

B! Framt ewil wepod

F16. 1

DEEP RACK CONFIGURATION

Sretionery
section of
1hdoovt
trech

SHALLOW BRACK CONFIGURATION:
U
Boer
;eunting
var tat oo rocher

oarow |, P it

I

settion ."
dideswt
notk

1A} Roer roil topped

DEEP RACK CONFIGURATION

™S
srow
(} 3]

ot
ot
1t 1) Roor Srenenery
BOUNting soction of
brechet stidesv!
reck

SHALLOW BACK CONFIGURATION. |
Soer

WOURNNG
Srachet
s [ .'
"nrew
(t 1]
™5
swrow
[t
1]
e S T
il of
onhinet

ek

10) Uniapped war seil

F16. 2

040-0982-04

page 4




. Scan by Zenith

INSTALLING THE SLIDE-OUT TRACKS
General Information

The slide-out tracks for the TM5006 consist of two assemblies. one for each side
of the TM5006. Each assembly consists of three sections: A stationary section
attaches to the front and rear rails of the rack. the chassis section attaches 1o
the TM5006 and the intermediate section fits between the other two sections to
allow the TM5006 to fully extend out of the rack. See Fig. 38 below.

REAR MOUNTING
SRACKET

RACK LATCH
MHOLE *

INTERMEDIATE NUTS

SECTION

STOP LATCH
HOLES
SENGAGES WITH MONITOR RACK RELEASE LATCH

F16. 3. RACKMOUNT SLIDE DETAIL. 1F THE RACK HAS TAPPED HOLES,
THE BAR NUTS ARE NOT REQUIRED.

The small hardware components included with the slide-out track assemblies are
used to mount the tracks to the vertical rack rails meeting these requirements:

1. Front and rear rail holes must be large enough to allow inserting &
10-32 screw through the rail mounting hole if the rails are uniapped
(see Fig. Y1A), OR

2. Front and rear rail holes must be tapped to accept a 10-32 screw if
Fig. 1B mounting method is used.

8. Front and rear rail holes must be located on Universal spacing: that

is. the sequence for the hole spacing is 1/2 inch. 5/8 inch. 5/8
inch. 1/2 inch. etc.

040-0982-04 page 5



Scan by Zenith

Because of the above variations. there will be some smail parts left over. The
stationary and intermediate sections for both sides of the rack are shipped as a
matched set and should not be separated. The matched sets of both sides.
including hardware. are marked 851-0636-00 on the package. To identify the
assemblies. note that the automatic latch and intermediate section stop is located
near the top of the matched set.

Mounting Procedure

Use the following procedure to mount both sides. See Fig. 1 for installation
details. .

WARNING

During rackmount instaliation, interchanging the left
and right slide-out track assemblies defeats the
extension stop (safety latch) feature of the tracks.
Equipment could, when extended, come out of the
slides and fall from the rack, possibly causing
personal injury and equipment damage.

When mounting the supplied slide-out tracks, inspect
both assemblies to find the LH (left hand) end RH
(right hand) designations to determine correct
placement. Install the LH assembly to your left side
as you face the front of the rack and install the RH
assembly to your right side.

1. To mount the TM5006 directly above or below another instrument in a
cabinet rack. select the appropriate holes in the front rack rails for
the stationary sections. using Fig. 4 as a guide.

2. Mount the stationary slide track sections to the front rack rails using
either of these methods:

a. if the front flanges of the stationary sections are to be mounted
behind the front rails (rails are countersunk or not tapped).
mount the stationary sections as shown in Fig. 1A.

b. If the front flanges of the stationary sections are to be mounted in
front of the front rails (rails are tapped for 10-32 screws). mount
the stationary sections as shown in Fig. 1B. To provide
increased bearing surface for the screw head to securely fasten
the front fiange to the rail. a flat washer (not supplied) may be
added under the screw head. However. consider that when this
mounting method is used. the front panel will not fit flush against
the front rail because of the stationary section and washer
thickness. if a tiush fit is preferred. the method shown in
Fig. 1A should be used.

040-0982-04 page 6




. “‘Scan by Zenith

0.015" NOMINAL CLEARANCE
. MIL STD EIA RS310 TO INSTRUMENT ON TOP OR BOTTOM.
199 RETMA
’ SPACING SPACING
} 0] o 4
urr- } o
o () o 2235
O O '
o.To" (o)
©|— |-© -
e I f
1 1io
0.625"
O —S 3.235"
() o _ﬂ O B S S | ;o S S e | &
Tl _Le 000000000 B0anoo0non
— :e- —_— - \J
1 RACK NORMAL CLEARANCE
BOTTOM TO RACK BOTTOM (12259 20: 2950-0€
Fig. 4 - Standard Spacing and Cilearances
3. Fasten the stationary slide-out sections to the rear rack rails. using

either of these methods:

a. if the rear rack rail holes are tapped to accept 10-32 machine
screws. mount the left stationary section with hardware provided
as shown in Fig. 2A. Note that the rear mounting bracket can
be instalied either way so the siide-out tracks will fit a deep or
shaliow cabinet rack. Use Fig. 2A as a guide for mounting the
left stationary section. Make sure the stationary sections are
horizontaily aligned so they are leve! and parallel with each
other.

b. if the rear rack rail holes are not tapped to accept 10-32
machine screws. mount the left stationary section with hardware
provided as shown in Fig. 2B. Note that the rear mounting
bracket can be instalied either way so the slide-out tracks will fit
a8 deep or shaliow cabinet rack. Use Fig. 2B as a guide for
mounting the left stationary section. Make sure the stationary
sections are horizontally aligned so they are leve! and parailel with
each other.

040-0982-04 page 7



Scén by Zenith

To insert the instrument into the rack. refer 10 Fig. 5 below.

TO INSTALL:

1. Pull the slide-out track sec-
tion to the fully extended
position.

2. Insert the instrument chassis
sections into the slide-out
sections.

3. Press the stop Isiches and
push the instrument toward
the rack until the (atches
snap into their holes.

4. Again press the stop lstches
and push the instrument fully
inlo the rack until the instru-
ment istches on both sides.

YO REMOVE:

1. Press rack reiease latch bars
inward and pull instrument
outward until the stop Iatches
snap into the holes.

= 2. Press stop lstches and re-
move the instrument.

Fig. 5 - Removing and Installing TM5006 in Rack Slides

To adjust the slide-out tracks for smooth sliding action. loosen the screws
used to join the stationary sections to the rails of the rack. Center the
instrument. allowing the slide-out tracks to seek the proper width. then
tighten the screws.

040-0982-04 page 8




, *Scan by Zenith

*

Maintenance

3

The slide-out tracks require no lubrication. The special. dark gray finish
on the sliding parts is a permanent lubrication.

RH:.rh

040-0982-04 page 9





